f ‘ : ; 2 E X E ek L A2 C
A NI N 38 I 22 AR 3L A I e ALE % B
) > A ) . A /
MK R 2R F AR WK R 2RFHEASE - WEE R " W E % R g e EALE
AN T 7N T
% K | & /D % K | & /B G4-G6 | G7-G8 | G9 G4-G6 | G7-G8 | G9 WA | B
ML O X 0.25| 0.75 0.785 | 0.729 MI2 X 1.0 | 11.00 | 11.153| 10.917 ML.O X 0.25 0.86 | 0.88 | - No.2 - S6UNC| 1.94 | - - W1/8 -40 | 2.65| 2.60
MI.1 X 0.25| 0.85 0.885 | 0.829 M2 X 0.5 | 11.50 | 11.520] 11.40 MI.1 X 0.25 0.96 | 0.98 | - No.3 - 48 2.23 | - - Ws/32 -32 | 3.25) 3.20
MI.2 X 0.25| 0.95 0.985 | 0.929 M4 X 1.5 | 12.50 | 12.676 | 12.376 M1.2 X 0.25 1.06 | 1.08 | - No.4 — 40 2.50 | - - W3/16 -24 | 3.75) 3.70
ML.4 X 0.3 | 1.10 1.142 | 1.075 M4 X 1.0 | 13.00 | 13.153| 12.917 M4 X 0.3 | 1.24 | 1.25 | - No.5 - 40 2.83 | - - W1/4 20 | 5.10]5.00
ML 6 X 0.35| 1.25 1.321 | 1.221 MIS X 1.5 | 13.50 | 13.676| 13.376 ML 6 X 0.35 1.41 | 1.43 | - No.6 — 32 3.07 | - - W5/16 18 | 6,60 6.50
ML.7 X 0.35| 1.35 1.421 | 1.321 MI5 X 1.0 | 14.00 | 14.153| 13.917 ML.7 X 0.35 1.51 | 1.53 | - No.8 - 32 3.73 | 3.77 - W3/8 -16 | 8.00| 7.90
MI.8 X 0.35| 1.45 1.521 | 1. 421 MI6 X 1.5 | 14.50 | 14.676 | 14.376 MI.8 X 0.35 1.61 | 1.63 | - No.10 — 24 | 4.24 | 4.30 - W7/16 -14 | 9.40 9.30
M2.0 X 0.4 | 1.60 1.679 | 1.567 M6 X 1.0 | 15.00 | 15.153| 14.917 M2.0 X 0.4 | 1.78 | 1.80 | - No.12 — 24 | 4.90 | 4.96 - W12 -12 | 10.7] 10.5
M2.2 X 0.45| 1.75 1.838 | 1.713 M7 X 1.5 | 15.50 | 15.676 | 15.376 M2.2 X 0.45 1.95 | 1.98 /4 -20 | - 5.72 - W9/16 -12 | 123 12.0
M2.3 X 0.4 | 1.90 1.979 | 1.867 M7 X 1.0 | 16.00 | 16.153| 15.917 M2.3 X 0.4 | 2.08 | 2.10 5/16 - 20 | - 7.24 - Ws/8 -1l | 13.7]13.5
M2.5 X 0.45| 2.10 2.138 | 2.013 MI8 X 2.0 | 16.00 | 16.210| 15.835 M2.5 X 0.45 2.25 | 2.28 3/8 - 16 | - 8.74 | 8.81 W34 -10 | 16.7] 16.5
M2.6 X 0.45| 2.20 2.238 | 2.113 MI8 X 1.5 | 16.50 | 16.676 | 16.376 M2.6 X 0.45 2.35 | 2.38 7/16 - 14 | - 10.20 | 10.30 W/8 -9 | 19.5]19.3
M3.0 X 0.5 | 2.50 2.599 | 2.459 MI8 X 1.0 | 17.00 | 17.153| 16.917 M3.0 X 0.5 | 2.73 | 2.75 /2 -13 - 11.27 | 11.82 W1ooo-8 | 22.4]22.0
M3.5 X 0.6 | 2.90 3.010 | 2.850 M20 X 2.0 | 18.00 | 18.210| 17.835 M3.5 X 0.6 | 3.17 | 3.20 No.2 —64UNF | 1.97 | - - Wo1-1/8 - 7 | 25.0] 24.8
M4. 0 X 0.7 | 3.30 3.422 | 3.242 M20 X 1.5 | 18.50 | 18.676| 18.376 M4.0 X 0.7 | 3.62 | 3.65 | 3.69 No.3 - 56 227 | - - W1-1/4 -7 | 28.3| 28,0
M4.5 X 0.75| 3.80 3.878 | 3.688 M20 X 1.0 | 19.00 | 19.153| 18.917 M5.0 X 0.8 | 4.56 | 4.60 | 4.64 No.4 — 48 2.56 | - -
é\
M5.0 X 0.8 | 4.20 4.334 | 4.134 M22 X 2.0 | 20.00 | 20.210 | 19.835 M6.0 X 1.0 | 5.45 | 5.50 | 5.55 No. 5 — 44 2.86 | - - %{E}ﬂ ﬁ/?/x
M6.0 X 1.0 | 5.00 5.153 | 4.917 M22 X 1.5 | 20.50 | 20.676 | 20.376 M7.0 X 1.0 | 6.45 | 6.50 | 6.55 No. 6 - 40 316 | - - S
° M A | RER
M7.0 X 1.0 | 6.00 6.153 | 5.917 M22 X 1.0 | 21.00 | 21.153| 20.917 M8.0 X 1.25 7.31 | 7.38 | 7.44 No.§ - 36 3.78 | - - S 178 40 | 2.735-2. 638
M8.0 X 1.25| 6.80 6.912 | 6.647 M24 X 2.0 | 22.00 | 22.210]| 21.835 MIO X 1.5 | 9.18 | 9.25 | 9.32 No.10 — 32 | 4.39 | 4.43 - 178 44 | 27692722
M9. 0 X 1.25| 7.80 7.912 | 7.647 M24 X 1.5 | 22.50 | 22.676| 22.376 M10 X 1.25 9.31 | 9.38 | 9.44 No.12 — 28 | 4.99 | 5.04 - M 976440 | 3. 1283, 033
MIO X 1.5 | 8.50 8.676 | 8.376 M24 X 1.0 | 23.00 | 23.153| 22.917 M2 X 1.75 11.04| 11.12] 11.21 1/4 -28 | 5.85 | 5.90 - SH11/6440 | 38553, 805
MIT X 1.5 | 9.50 9.676 | 9.376 M25 X 2.0 | 23.00 | 23.210]| 22.835 M2 X 1.25 11.31| 11.38] 11.44 5/16 - 24 | 7.36 | 7.41 - S 3/16-32 | 4.205-4.155
o EFLKZ - - B
M2 X 1.75| 10.30 | 10.441| 10.106 | | M25 X 1.5 | 23.50 | 23.676 | 23.376 s BFEH 3/8 24 9. 00 N 31628 | 41434, 093
M4 X 2.0 | 12.00 | 12.210| 11.835| | M25 X 1.0 | 24.00 | 24.153| 23.917 7/16 - 20 | - 10.48 | 10.54 S 7332 | 5. 003495
MI6 X 2.0 | 14.00 | 14.210| 13.835| | M26 X 1.5 | 24.50 | 24.676 | 24.376 /2 -20 | - 12.07 | 12.13 M15/6428 | 5. 3255570
MI8 X 2.5 | 15.50 | 15.744| 15.294 | | M27 X 2.0 | 25.00 | 25.210| 24.835 o 1/4 40 | 589055735
M20 X 2.5 | 17.50 | 17.744| 17.294 | | M27 X 1.5 | 25.50 | 25.676 | 25.376 - o 1/4 <28 | 5.72105. 366
M22 X 2.5 | 19.50 | 19.744| 19.294 | | M27 X 1.0 | 26.00 | 26.153| 25.917 % ﬁ}‘lj *ﬂ ﬁ? Qj 514% ﬁ}‘lj G2 ﬁ? Qj
: : : : : : : : R 2 B R 2 SM 9/32-28 | 6.508-6. 648
M24 X 3.0 | 21.00 | 21.252|20.752| | M28 X 2.0 | 26.00 | 26.210| 25.835
2% ey 2% = SM11/32-28 | 8.092-8.432
M27 X 3.0 | 24.00 | 24.252|23.752| | M28 X 1.5 | 26.50 | 26.676 | 26.376 S K2 R HILE oA T e LG o 3/8 28 | 88808, 015
( UNC) R K | & R K | & - =
M30 X 3.5 | 26.50 | 26.771| 26.211 M28 X 1.0 | 27.00 | 27.153| 26.917 LA S 7/16 28 | 10.466-10.401
W30 X 3.0 | 2700 | 272521 26 750 | | No.1-64(1.854)| 1.55 | 1.582 |1.425 RC1/16 — 28 6.50 | 6.632 | 6.490 1715 16 110 05700 967
N y » W30 X 2.0 | 2800 | 28 2101 27. 835 | |No.2-56(2.184)| 1.80 | 1.871 |1.695 RP1/8 — 28 8.50 | 8.637 | 8.495 w12 20 asaiie
N %’J 2H] i,? 2L No. 3-48 (2. 515)| 2. 10 2.146 | 1.941 G 1/4 - 19 11.40 | 11.549) 11.341 . -
M30 X 1.5 | 28.50 | 28.676| 28.376 S 9/16 20 | 13.400-13. 425
No. 4-40(2.845)| 2.30 | 2.385 |2.157 #3/8 - 19 15.00 | 15.054| 14.846 : :
; R T M30 X 1.0 | 29.00 | 29.153| 28.917 7
K | HER A& A M32 X 2.0 | 30.00 | 30.210] 29.835 No.5-40(3.175)| 2.60  [2.697 |2.487 g 12 -4 18.50 | 18.773| 18.489 /A\%'J igé/‘(
No. 6-32 (3.505)| 2.80 | 2.895 |2.642 3/4 - 14 24.00 | 24.259] 23.975 A
M32 X 1.5 | 30.50 | 30.676 | 30.376 ~
MI.O X 0.2 | 0.80 0.821 | 0.783 - a7 5 S 42
M33 X 3.0 30. 00 30.252 | 29. 752 No. 8-32 (4. 166)| 3. 40 3.530 | 3.302 1 -1 30.20 | 30.471| 30.111 L | RER
MI.1 X 0.2 | 0.90 0.921 | 0.883 - - - -
No.10-24 (4.826)| 3.90 |3.962 | 3.683 g 1-1/4 - 11 38.80 | 39.132 | 38.772 M3.0 X 0.5 | 2.63-2.60
Mi2 X 02 | 1oo L o21 | o 983 M33 X 2.0 | 31.00 | 31.210 30.835
No.12-24(5.436)| 4.50 | 4.597 | 4.344 1-1/2 - 11 44.80 | 45.025 | 44.665 M3.0 X 0.6 | 2.56-2.53
M4 xo02 | 120 T 221 | 1183 M33 X 1.5 | 31.50 | 31.676]| 31.376 o
: : : : : s x 15 | 3550 | 33076 33 376 1/4 - 20 5.10 | 5.257 | 4.979 2 - 11 | 56.60 | 56.836| 56.476 M3.5 X 0.6 | 3.06-3.03
Mi.6 X 0.2 | 1.40 1.421 | 1.383 e X0 | 3300 33050 3 05a | | 5/16 - 13 6.60 | 6.731 | 6.401 MAO X 0.7 | 3.49-3.45
MI.7 X 0.2 | 1.4 1.500 | 1.460 o6 x20 | 3000 | 322100 33 835 3/8 - 16 8.00 | 8.153 | 7.798 MA.5 X 0.75 | 3.96-3.92
. . . . - M
MI.8 X 0.2 | 1.60 1.621 | 1.583 7/16 — 14 9.40 | 9.550 | 9.144 Pae %’J % ﬁ/?i ?X M.0X 0.8 | 4437438
M2 0 X 0.251 175 L 785 | 1729 M36 X 1.5 | 34.50 | 34.676 | 34.376
1/2 - 13 10.80 | 11.023 | 10.592 —— M6.0 X 1.0 | 5.30-5.25
. . . <) AL |k
M2.2 X 0.25] 1.95 1.985 | 1.929 9/16 - 12 12.20 | 12.446 | 11.989 ;& fEE KnEs |G| | M0X 10 | 6.30-6.25
SRR e | R AR | BEFNE
M2.3 X 0.25| 2.05 2.061 | 2.001 % ﬁ;lj 4 ﬁ? é)‘\( Py Fa— 3 60 | 12 565 | 13 386 8 2071 [ 7 v | B J e
= 2N _
M2.5 X 0.35| 2.20 2.221 | 2.121 yyR— e 50 | 15 840 | 16 307 PT 1/16-28 | 6.10 | 6.20 | 6.244 | 6.384 N
42 —
M2.6 X 0.35| 2.20 2.246 | 2.186 M b VR FAESL AR s — 9 5 50 119 7611 19,177 PT 1/8 —28 | 8.10 | 8.20 | §.249 | §. 388
N T = = _ N
M3.0 X 0.35] 2.70 2.721 | 2.621 (UNF) ® K | & A 1 -3 22.20 | 22.606 | 21.971 PT 1/4 719 | 10.70] 11.0 | 10.962] 11.174 }"{%IJ i, o é/?iéx
FHEZFIE
M3.5 X 0.35| 3.20 3.221 | 3.121 No. 0-80C ool 125 |1.305 |1 182 Py P— 2500 | 25 349 | 24 638 PT 3/8 -19 | 14.20 | 14.50 | 14.448| 14.658 0k | Al
— T
M4.0 X 0.5 | 3.50 3.599 | 3.459 No.1-72(1.854)| 1.55 | 1.612 |1.474 1-1/4 - 7 28.20 | 28.524 | 27.813 PT 1/2 714 | 17.60] 18.00] 17.979) 18.263 on o - 4
M4.5 X 0.5 | 4.00 4.099 | 3.959 No. 2642 18| 185 | 1912 | 1. 756 Py F— 20,80 | 31115 | 30353 PT 3/4 -14 | 23.00| 23.50 | 23.378| 23.663 " : :
M5.0 X 0.5 | 4.50 4.599 | 4.459 No.3-56 2. 515)| 2.10 | 2.197 | 2. 025 P 7200 | 32,290 | 38 528 PT 1 -11 | 29.00| 29.50 | 29.459| 29.822 o T
M5.5 X 0.5 | 5.00 5.099 | 4.959 No. 448 (2. 84%)] 2.40 | 2. 458 |2.271 /e _ s 5. 50 | 39,327 | 35 964 PTI-1/4-11 | 37.50 | 38.00 | 37.976 38.339 - 2' — 2~ 8
M6.0 X 0.75) 5.30 5. 378 | 5. 188 No.5-44(3.175)| 2.70 | 2.740 | 2.551 2 —4-1/2 | 45.20 | 45.593 | 44.679 PTIZ1/2711 | 43.40 | 44.00 | 43.869] 44252 oo 4o
M6.0 X 0.5 | 5.50 5.550 | 5.400 No. 6-40(3. 505 2.90 | 3.022 |2 820 PT 2 — 11 | 54.90 | 55.50 | 55.412| 55.844 : :
M7.0 X 0.75] 6.30 6.378 | 6.188 No. 8-36 (4. 166)| 3.50 | 3.606 | 3. 404 ITYRIN -
M7.0 X 0.5 | 6.50 6.550 | 6.400 No.10-32(4.826) | 4.10 4165 | 3.963 % #| L%i: o8 W2 é)\‘( 9’—% | /r“é—" A éj A Xj—/n\
M8.0 X 1.0 7. 00 7.153 ] 6.917 No. 12-28 (5. 486) | 4.60 4.724 4.496 inch | mm | inch | mm
4 7=
M8.0 X 0.75| 7.30 7.378 | 7.188 1/4 - 28 5.50 | 5.588 | 5.360 K ke 2R F AL oo 3L = 1/16 | 1.587|| 5/16 | 7.937
7N T NPT
M8.0 X 0.5 | 7.50 7.520 | 7.400 S/16 - 24 6.90 | 7.035 | 6. 782 ( UNEF ) x K | & D fazZan | gmgaw| VTS 5/64 | 1.984]| 21/64] 8.334
M9.0 X 1.0 8. 00 8.153 | 7.917 3/8 — 24 8. 50 3. 636 | 8.382 No.12 — 32 4.70 4.826 | 4.623 1/16 - 217 6.10 6.25 6.35 3/32 | 2.381) 11/32] 8.731
M9. 0 X 0.75| 8.30 8.378 | 8.188 7/16 — 20 .90 | 10.0331 9. 729 1/4 - 32 | 560 | 5690 |5.486 /8 -21 | 833 8. 43 8.74 7;64 2.778 25/64 9.128
1/8 | 3.115] 3/8 | 9.525
MIO X 1.25| 8.80 8.912 | 8.647 1/2 - 20 11.50 | 11.607 | 11. 329 5/16 - 32 | 7.10 | 7.264 | 7.087 /4 -18 | 10.72 11.13 | 1113 276t Tasmal 2s/eal s 922
M10 X 1.0 9.00 9.153 8.917 9/16 — 18 12.90 13.081 | 12.751 3/8 - 32 8.70 8. 865 8.661 3/8 - 18 14. 27 14. 27 14. 68 5/32 | 3.969|[13/32 | 10. 319
MIO X 0.75| 9.30 9.378 | 9.188 s/8 - 18 14.50 | 14.681 | 14.351 7/16 - 28 | 10.20 | 10.338 | 10.135 12 -14 | 17.48 17.86 | 18.26 11/64 | 4.366)7/16 | 11.112
M10 X 0.5 9.50 9.520 | 9.400 3/4 - 16 17.50 | 17.678 | 17. 323 /2 - 28 11.80 | 11.938 | 11.709 3/4 - 14 22. 63 23.01 23. 42 3/16 | 4.762|129/64 | 11. 509
MI1T X 1.0 | 10.00 | 10.153] 9.917 7/8 — 14 20.50 | 20.675 | 20.270 9/16 - 24 | 13.20 | 13.386 | 13.132 1 - 11-1/2| 28.58 28.98 | 29.36 1764 5. 159 15//32 11. 906
7/30 |5.556) 12 | 127
MI1 X 0.75| 10.30 | 10.378 | 10.188 T - 12 23.2 | 23.571] 23.114 5/8 - 24 | 14.80 | 14.986 | 14.732 1-1/4-11-1/2|  37.31 37.69 | 38.10 15760 5,953
M12 X 1.5 10. 50 10. 676 | 10. 376 1-1/8 — 12 26.50 26.746 | 26.289 3/4 - 20 17.80 17.958 | 17.678 1-1/2-11-1/2 43.66 44. 04 44. 45 1/4 6.35
M2 X 1.25| 10.80 | 10.912| 10. 647 1-1/4 - 12 29.50 | 29.921 | 29. 464 7/8 - 20 | 21.00 | 21.133| 20.853 2 - 11-1/2]  55.58 55.96 | 56.36 17/64 | 6.747
1-3/8 — 12 32.80 | 33.096 | 32.639 1 — 20 | 24.00 | 24.308 | 24.028 9/32 | 7.144
19/64 | 7. 541
1-1/2 - 12 36.00 | 36.271] 35.814




